Exercise 82 - Good/Bad Dienes/Dienophiles

Question
Give the structure of the product of each of the following Diels-Alder reactions. If no
reaction occurs, state that such is the case and indicate what the problem might be.
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No reaction. The Ph substituent is not an
—» electron-withdrawing group making this a bad
dienophile.
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No reaction. This diene cannot adopt
= Z the required cisoid conformation to react
due to steric reasons.

No reaction. The electron-withdrawing group
H;CO = on the diene makes it unreactive.
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No reaction. The dienophile has a carbonyl

H;CO P
but it is not attached directly (i.e. conjugated)
| O  —— to the alkene so cannot activate it. The O
X atom is deactivating because it is an electron

withdrawing group.




